BE% 27850900 FE~

ROFEL L4 X

AN

10X2= 20
100X2= 200
10X2= 20
10X20= 200
10X3= 30
100X 3= 300
10X3= 30
10X30= 300
10X4= 40
100X4= 400
10X4= 40
10X40= 400
10X5= 050
100 X5= 500
10X5= 50
10X50= 500

E DK > T

RETRIEL I,

20X2= 40
200X2= 400
20X2= 40
20X20= 400
20X3= 60
200X3= 600
20X3= 60
20X 30= 600
20X4= 80
200X4= 800
20X4= 80
200X4= 800
20X5= 100
200X5= 1000
20X5= 100
20X50= 1000

DB - T

RETRIE L I,

30X2= 60
300X2= 600
30X2= 60
30X20= 600
30X3= 90
300X3= 900
30X3= 90
30X 30= 900
30X4= 120
300X4= 1200
30X4= 120
300X4= 1200
30X5= 150
300X5= 1500
30X5= 150
30X50= 1500




BE% 27850900 FE~

ROZPHEE L% 3w,

2X2= 4
2X20= 40

2X2= 4
20X 2= 40
20X 2= 40
200X 2= 400
20X 2= 40
20X20= 400

2X3= 6
2X30= 60

2X3= 6
20X 3= 60
20X 3= 60
200X 3= 600
20X 3= 60
20X 30= 600

E DK > T

A2 EEL S0,

2X 2=
2% 40
2X 2=
20X| |= 40
20X 2=
200X/ | 400
20X 2=
20X[20 |= 400
2% 3=
2x| | 60
2X 3=
[ [x3= 60
20X 3=
X3= 600
20X 3=
- [x30= 600

DB - T
NEF TR IR X0\,

2X4=

80

2X4=

20X4=

20X 4=

2X5=

2X5=

20X 5=

20X 5=




BE% 27850900 FE~

2X2= 4
20X 2= 40
20X20= 400

200X20= 4000
200X200= 40000

3IX2= 6
30X2= 60
30X20= 600

300X20= 6000
300X200= 60000

4X2= 8
40X 2= 80
40X20= 800

400X20= 8000
400X200= 80000

5X2= 10
50X2= 100
90X 20= 1000

500X20= 10000
500X200= 100000

6X2= 12
60X 2= 120
60 X20= 1200

600X20= 12000
600 X200= 120000

2X3= 6
20X 3= 60
20X 30= 600

200X30= 6000

200X 300= 60000

3X3= 9
30X 3= 90
30X 30= 900

300X30= 9000

300X 300= 90000

4X3= 12
40X 3= 120
40X 30= 1200

400X30= 12000

400X 300= 120000

5X3= 15
50X 3= 150
90X 30= 1500

500X 30= 15000

500X 300= 150000

6X3= 18
60X 3= 180
60X 30= 1800

600X 30= 18000

600 X 300= 180000

2Xb= 10

20X 5= 100
20X50= 1000
200X50= 10000
200X 500= 100000
3Xb= 15
30Xb5= 150
30X50= 1500
300X50= 15000
300X 500= 150000
4X 5= 20

40X 5= 200
40X 50= 2000
400X 50= 20000
400 X500= 200000
5Xb= 25
50X5= 250
90X 50= 2500
500X 50= 25000
900X 500= 250000
6Xb5= 30
60X5= 300

60 X50= 3000
600X50= 30000
600 X500= 300000
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ROFEL L4 X

BE% 27850900 FE~

U

20X 2= 40
1X2= 2
21X2= 42
20X 2= 40
3X2= 6
23X2= 46
20X 2= 40
4X2= 8
24X 2= 48
20X 2= 40
oX2= 10
25X2= 50
30X2= 60
oX2= 10
36 X2= 70
40X 2= 80
OX2= 10
45X 2= 90
60X2= 120
OX2= 10
65X2= 130

20X 3= 60
1X3= 3
21X3= 63
20X 3= 60
3X3= 9
23X 3= 69
20X 3= 60
4X3= 12
24X 3= 72
20X 3= 60
OX3= 15
256X 3= 75
30X 3= 90
OX3= 15
35X3= 105
40X 3= 120
5X3= 15
45X 3= 135
60X 3= 180
5X3= 15
65X3= 196

20X 4= 80
1X4= 4
21X4= 84
20X 4= 80
3X4= 12
23X4= 92
20X4= 80
4X4= 16
24X 4= 96
20X4= 80
oX4= 20
26 X4= 100
30X4= 120
oX4= 20
36 X4= 140
40X 4= 160
o X4= 20
45X 4= 180
60X4= 240
o X4= 20
65 X4= 260




ROFEL L4 X

BE% 27850900 FE~

U

40X 2= 80
1X2= 2
41X 2= 82
40X 2= 80
3X2= 6
43X 2= 86
40X 2= 80
4X2= 8
44X 2= 88
40X 2= 80
oX2= 10
45X 2= 90
50X2= 100
oX2= 10
556 X2= 110
60X2= 120
OX2= 10
656X2= 130
70X 2= 140
OX2= 10
75 X2= 150

40X 3= 120
1X3= 3
41X 3= 123
40X 3= 120
3X3= 9
43X 3= 129
40X 3= 120
4X3= 12
44X 3= 132
40X 3= 120
OX3= 15
45X 3= 135
50X 3= 150
OX3= 15
556X 3= 165
60X 3= 180
5X3= 15
65X3= 195
70X 3= 210
5X3= 15
7T5X3= 225

40X 4= 160
1X4= 4
41X4= 164
40X 4= 160
3X4= 12
43 X4= 172
40X 4= 160
4X4= 16
44X 4= 176
40X 4= 160
oX4= 20
45X 4= 180
50X4= 200
oX4= 20
56 X4= 220
60X4= 240
o X4= 20
65X4= 260
70X 4= 280
o X4= 20
75 X4= 300




BE% 27850900 FE~

FXK
oY DE 2 5%
ToOXREZRIEL XV,
#
20x2=| 40
1X2= 9
21%xX2=| 42
21X2
=(20+1)X 2
=20X2+ 1X2
=40+ 2
=42
20X 2= 40
3X2= 6
23X 2= 46
23X 2
=(20+3) X 2
=20X2 + 3X2
=40+ 6
=46
20X 2= 40
4AX 2= 8
24X 2= 48
24X 2
=(20+4) X 2
=20X2 +4X2
=40 + 8
=48

20X 2= 40

OX2= 10

25X 2= 50

25X 2
=(20+5) X 2
=20X2 +5X2
=40 + 10
=50

30X2= 60

OX2= 10

35X2= 70

35X2
=(30+5) X 2
=30X2 +5X2
=60 + 10

=70

40X 2= 80

OX2= 10

45X 2= 90

45X 2
=(40+5)X 2
=40X2 + 5X2
=80 + 10

=90

60X2= 120

5X2= 10

65X2= 130

65X2
=(60+5)X 2
=60X2 +5X2
=120+ 10
=130

20X 3= 60

1X3= 3

21X3= 63

21 X3
=(20+1)% 3
=20X3+1X3
=60+ 3

=63

20X 3= 60

3X3= 9

23X 3= 69

23 X3
=(20+3)X 3
=20X3 + 3X3
=60+9

=69

20X 3= 60

4X3= 12

24X 3= 72

24 X3
=(20+4)X 3
=20X3 +4X3
=60 + 12
=72

20X 3= 60

OX3= 15

25X 3= 75

25X3
=(20+5)X 3
=20X3+5X3
=60 + 15
=75



BE% 27850900 FE~

30X 3= 90

oX3= 15

36 X3= 105

35X3
=(30+5)%X 3
=30X3+5X3
=90 + 15
=105

40X 3= 120

OX3= 15

45X 3= 135

45X 3
=(40+5)X 3
=40X3 + 5X3
=120+ 15
=135

60X 3= 180

oX3= 15

65X 3= 195

65X3
=(60+5)X 3
=60X3 +5X3
=180 + 15
=195

20X4= 80

1X4= 4

21X4= 84

21X4
=(20+1)X4
=20X4 +1X4
=80+4

=84

20X4= 80

3X4= 12

23X4= 92

23X4
=(20+3) X 4
=20X4 + 3X4
=80 + 12
=92

20X4= 80

4X4= 16

24X4= 96

43 X4
=(20+4) X 4
=20X4+4X4
=80 + 16

=96

20X4= 80

oX4= 20

25X4= 100

25X4
=(20+5)X 4
=20X4 +5X4
=80 + 20
=100

30X4= 120

5X4= 20

35X4= 140

35X4
=(30+5)X 4
=30X4 +5X4
=120 + 20
=140

40X 4= 160

oX4= 20

45X 4= 180

45X4
=(40+5)x 4
=40X4 +5X4
=160 + 20
=180

60X4= 240

oX4= 20

65 X4= 260

65X4
=(60+5) X 4
=60X4+5X4
=240 + 20
=260

70X4= 280

oX4= 20

75X4= 300

75X4
=(70+5) X4
=70X4 +5X4
=280 + 20
=300

80X4= 320

o X4= 20

85X 4= 340

85X4
=(80+5)X 4
=80X4 +5X4
=320 + 20
=340



BE% 27850900 FE~

Bovnth sz
ToORERR S &% 30,

#l

20X 6=

120

1X6=

6

21X6=

126

35xX6=|210

35X6
=(30+5)X 6
=30X6 +5X6
=180 + 30

23X7=|101

23X7
=(20+3)X 7
=20X7 + 3X7
=140 + 21

21X6
=(20+1)X 6
=20X6 +1X6
=120+6
=126

23X6=

138

23X6
=(20+3)X 6
=20X6 + 3X6
=120+ 18
=138

24X6=|144

24X6
=(20+4) X6
=20X6 + 4X6
=120+ 24
=144

25X6=|150

25X6
=(20+5)X 6
=20X6 +5X6
=120+ 30
=150

=210

45X 6=

270

45X 6
=(40+5)X 6

=40X6 + 5X6

=240 + 30
=270

65X 6=

390

65X6
=(60+5)X 6

=60X6 + 5X6

360 + 30
=390

21X 7=

147

21 X7
=(20+1)X7

=20X7 + 1X7

=140 +7
=147

=147

24X 7=

168

24 X7
=(20+4)X 7

=20X7 +4X7

=140 + 28
=168

25X 7=

175

26 X7
=(20+5) X7

=20X7 +5X7

=140 + 35
=175

36 X7=

240

35 X7
=(30+5)X 7

=30X7 + 5X7

=210+ 35
=245



BE% 27850900 FE~

45X7=1315

45X 7
=(40+5)X 7
=40X7 +5X7
=280+ 35
=315

65X7=|455

65 X7
=(60+5) X 7
=60X7 +5X7
=420 + 35
=455

21X8=168

21X8
=(20+1)X 8
=20X8 + 1X8
=160 + 8
=168

23X8=184

23X 8
=(20+3)X 8
=20X8 + 3X8
=160 + 24
=184

25X 8= 1200 125X5=| 625
25X 8 125X5

=(20+4) X 8 =(100 + 20 + 4) X5

=20X8 +5X8 =100X5+20X8 + 5 X5

=160 + 40 =500+ 100 + 25

=200 =625
125%2=|250| 125%x6=|750
125X 2 125 X6

=(100 + 20 + 4) X 2
=100X2 +20X2 + 5X2

=(100 + 20 + 4)X 6
=100X6 +20X6 + 5X6

=200 +40 + 10 =600 + 120 + 30

=250 =750

125%X3=| 375| 125Xx7=| 875
125X 3 125X7

=(100 + 20 + 4)X3
=100X3 +20X3 + 5X3

=(100 + 20 + 4)X 7
=100X7 +20X7 + 5 X7

=300 + 60 + 15 =700 + 140 + 35

=375 =875

125X4=| 500| 125x8=|1000
125X4 125X 8

=(100 + 20 + 4)X4
=100X4 + 20X4 + 5X4
=400 + 80 + 20

=500

=(100 + 20 + 4)X 8
=100X8 +20X8 +5X8
=800 + 160 + 40
=1000




BE% 27850900 FE~

ROFEE L% 3w,

10X 2=

100X 2=

10X 2=

10X20=

10X 3=

100X 3=

10X 3=

10X 30=

10X4=

100 X4=

10X4=

10X40=

10X5=

100 X5=

10X5=

10X50=

E DK > T

A2 EEL S0,

20X 2=

200X 2=

20X 2=

20X20=

20X 3=

200X 3=

20X 3=

20X 30=

20X4=

200X4=

20X4=

200X4=

20X5=

200X 5=

20X 5=

20X50=

DB - T

ANETRIE L 30,

30X2=

300X2=

30X2=

30X20=

30X 3=

300X 3=

30X 3=

30X 30=

30X4=

300X4=

30X4=

300 X4=

30Xb5=

300X 5=

30X5=

30X50=




BE% 27850900 FE~

ROFEZ2 L X,

2X2=

2X20=

2X2=

20X 2=

20X 2=

200X 2=

20X 2=

20X20=

2X3=

2X30=

2X3=

20X 3=

20X 3=

200X 3=

20X 3=

20X 30=

E DK > T

RETRIEL I,

2X2=
2 X 40
2X2=
20x| |= 40
20X 2=
200X| |= 400
20X 2=
20X 400
2X 3=
2X| |= 60
2X 3=
X3= 60
20X 3=
[ [x3= 600
20X 3=
X30= 600

DB - T
RNEPFRZR I X,

2X4=

2X4=

20X4=

20X 4=

2X5=

2X5=

20X 5=

20X 5=




BE% 27850900 FE~

2X2=

20X 2=

2X3=

20X20=

20X 3=

2X5=

200X 20=

20X 30=

20X 5=

200X 200=

200X 30=

20X 50=

200X 300=

200X50=

3X2=

200 X500=

30X2=

3X3=

30X20=

30X 3=

3Xb=

300X 20=

30X 30=

30X5=

300X 200=

300X 30=

30X50=

300X 300=

300X 50=

4X2=

300X 500=

40X 2=

4X 3=

40X20=

40X 3=

4X 5=

400X 20=

40X 30=

40X 5=

400X 200=

400X 30=

40X50=

400X 300=

400X 50=

oX2=

400 X 500=

50X2=

oX3=

50X 20=

50X 3=

oOXd=

500X 20=

50X 30=

50X5=

500X 200=

500X 30=

50X 50=

500X 300=

500X 50=

6X2=

500X 500=

60X 2=

6X3=

60 X20=

60X 3=

6X5=

600X 20=

60X 30=

60X 5=

600X 200=

600X 30=

60 X50=

600X 300=

600X 50=

600 X 500=
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BE% 27850900 FE~

ROZFTFEL L% 3w,

20X 2=

1X2=

20X 3=

21X2=

1X3=

20X 4=

21X3=

1X4=

20X 2=

21X4=

3X2=

20X 3=

23X2=

3X3=

20X 4=

23X 3=

3X4=

20X 2=

23X4=

4X2=

20X 3=

24X 2=

4X 3=

20X 4=

24X 3=

4X 4=

20X 2=

24X 4=

oX2=

20X 3=

25X2=

9X3=

20X 4=

256X 3=

oX4=

30X2=

26 X4=

oX2=

30X 3=

36 X2=

oX3=

30X4=

35X3=

oX4=

40X 2=

36 X4=

OX2=

40X 3=

45X 2=

5X3=

40X 4=

45X 3=

SX4=

60X 2=

45X 4=

OX2=

60X 3=

65X2=

5X3=

60 X4=

65X 3=

SX4=

65X4=




BE% 27850900 FE~

ROZFTFEL L% 3w,

40X 2=

1X2=

40X 3=

41X 2=

1X3=

40X 4=

41X 3=

1X4=

40X 2=

41X4=

3X2=

40X 3=

43X 2=

3X3=

40X 4=

43X 3=

3X4=

40X 2=

43 X4=

4X2=

40X 3=

44X 2=

4X 3=

40X 4=

44X 3=

4X 4=

40X 2=

44X 4=

oX2=

40X 3=

45X 2=

9X3=

40X 4=

45X 3=

oX4=

50X2=

45X 4=

oX2=

50X 3=

556 X2=

oX3=

50X4=

556X 3=

oX4=

50X 2=

56 X4=

OX2=

50X 3=

55X 2=

5X3=

50X4=

55X 3=

SX4=

70X 2=

55X 4=

OX2=

70X 3=

75X2=

5X3=

70X 4=

75X 3=

SX4=

75X 4=




BE% 27850900 FE~

Bovniths sz
TOXREZR I L X,

#l

20X 2=

OX2=

20X 3=

20X 2=

25X 2=

1X3=

1X2=

21 X2=

21X2
=(20+1)X 2
=20X2 +1X2
=40+ 2
=42

21X3=

30X2=

OX2=

20X 3=

35X2=

3X3=

20X 2=

3X2=

23X2=

23X 3=

40X 2=

OX2=

20X 3=

45X 2=

4X 3=

20X 2=

4X2=

24X 2=

24X 3=

60X 2=

SX2=

20X 3=

65 X2=

5X3=

256X 3=




BE% 27850900 FE~

30X 3=

oX3=

20X4=

36 X3=

3X4=

40X 4=

23X4=

oX4=

40X 3=

45X 4=

9X3=

20X4=

45X 3=

4X4=

60X4=

24X4=

oX4=

60X 3=

65 X4=

OX3=

20X4=

65X 3=

o9X4=

70X 4=

25 X4=

oX4=

20X 4=

75X 4=

1X4=

30X4=

21X4=

S5X4=

80X4=

36 X4=

SX4=

85X4=




BE% 27850900 FE~

Bovniths sz

TORETRS &L X0,
2

20X 6=

1X6=

21X6=

21X6
=(20+1)X 6
=20X6 +1X6
=120+6
=126

23X6=

24X6=

26X 6=

35 X6=

45X 6=

35X 7=

65X 6=

45X 7=

21 X7=

65X 7=

23X 7=

21 X 8=

24X 7=

23X 8=

25X 7=

24X 8=




